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Last Lab Meeting 

Fig.1: Ch6 mean waveform fitted with a user defined function obtained from a spline3. 
Benard Mulilo                  Lab Presentation                    Winter Break                  February 10, 2017 

1.  Applying TSpline3 Method 

histoNom_6_0_1
Entries  486
Mean    64.88
RMS     72.87
Prob       1
P         0.0±     0 
H         0.0±     1 
S         0.0±     0 
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1 histoNom_6_0_1
Entries  486
Mean    64.88
RMS     72.87
Prob       1
P         0.0±     0 
H         0.0±     1 
S         0.0±     0 

Fitted value of par[1]=Mean

Ped = 0.0000± 0.0004
Hgt =1.0000± 0.0024
Shft = 0.0000± 0.0065
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Fig.1.0: Event (0) single waveform for Channel 6 of a 2m-long scintillator bar 
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Waveform Data Analysis1 
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Waveform Data Analysis2 

Fig.1.1: Single waveform for Event (0) in Ch. 6 fitted with a mean waveform function 
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Waveform Data Analysis3 

Fig.2.0: Event (25) single waveform for Channel 6 of a 2m-long scintillator bar 
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Waveform Data Analysis4 

Fig.2.1: Event (25) single waveform for Ch. 6 fitted with a mean waveform function 
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Waveform Data Analysis5 

histoNom_7_0_1
Entries  470
Mean    64.49
RMS     73.34
P         0.0±     0 
H         0.0±     1 
S         0.0±     0 
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Entries  470
Mean    64.49
RMS     73.34
P         0.0±     0 
H         0.0±     1 
S         0.0±     0 

Fitted value of par[1]=Mean

Fig.3.0: Ch7 mean waveform fitted with a user defined function obtained from a spline3. 

Ped = 0.0000± 0.0004
Hgt =1.0000± 0.0025
Shft = 0.0000± 0.0404
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Waveform Data Analysis6 

Fig.4.0: Single waveform for Event (0) in Channel 7 of a 2m-long scintillator bar 
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Waveform Data Analysis7 

Fig.4.1: Single waveform for Event (0) in Ch. 7 fitted with a mean waveform function 
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Waveform Data Analysis8 
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Fig.5.0: Single waveform for Event (25) in Channel 7 of a 2m-long scintillator bar 
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Waveform Data Analysis9 

Fig.5.1: Single waveform for Event (25) in Ch. 7 fitted with a mean waveform function 
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Waveform Data Analysis10 

Benard Mulilo                  Lab Presentation                    Winter Break                  January 19, 2017 

3.  Next Task 

1.  Examine waveforms at different hit positions in the scintillator 
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BACK UP11 [Last lab meeting] 
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3.  Tasks 

1.  Construct event by event waveforms; apply the derived waveform 
function and compare the quality of the fit parameters. 

 
2.  Examine waveforms at different positions in the scintillator to 

check dependence on position 
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BACK UP12[Last lab meeting] 
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2.  Applying TSpline3 Method 

TSpline3 was then used to produce a fitting function by loading each 
value of time (x-axis) of the mean waveform obtained previously from 
FitSlicesY method and outputting a corresponding value of height 
(y-axis) according to: 
 
 
where the 3 parameters used 
were: 
 
1.  Par[0] = Pedestal 
2.  Par[1] = Height 
3.  Par[2] = Shift, t = 0 
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Fig.3: A cubic spline 

h(t) = par[0]+ par[1]*(sp3− > Eval(t[0]− par[2]))


